
The gures in the right hand side margin indicate marks.

1. Answers any ve     = questions : 2 x 5 10

 a) If nc  = 21, nd the value of  n. 2n–2

 b) If 5, x, y, z, 405 are in a G.P. series, nd the value of  x, y, z. 2

/ / /
 c) Show that (A Ç B)  = A  È B . 2

–1
 d) If                      , nd A . 2

 e) Let ƒ(x) = x,  o ≤ x < 1

   = x –1,  1 ≤ x ≤ 2.

  Test wheather ƒ(x) is continuous at x = 1. 2

 f) Find   2

2
 g) Find the minimum value of ƒ(x) = x  – 2x. 2

 h) State Euler's theorem on homogeneous functions of two 
variables. 2

2. Answers any four     = questions : 5 x 4 20

 a. i) Prove that log  ( 1 + 2 + 3) = log  1 + log  2 + log  3. 210 10 10 10

 ii) If in an A.P series t  = 3n – 1, nd the A.P series. 3n

 b. i) If                               , then

  show that A is a skew-symmetric matrix. 3

2 ii) If                    , then nd out the value of A . 2

 c. Solve the equation by Cramer's rule - 
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2x – z = 1
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x – 8y – 3z = –2
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 d. i) If                        has minimum value at x = 2, then nd the value 
of  . 3λ

 ii) Show that                          . 2

 e. i) If  S                     , then nd the value of        at t = 1, where a, b, c 
are constants. 3

 ii) If   2

 f. i) Find  3

 ii) Show that  2

3. Answers any one question : 10  1 = 10x

 a. i) If                                         then show that                   . 4 

 ii) show that 3

 iii) Find the values of  x, y, z, t for which the matrices

                            and                              may be equal. 3

 b. i) Show that maximum value of                  is less than its 
minimum value. 4

 ii) Show that                             is a homogeneous function of 
degree, 3. 3

 iii) Find the value of  3
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The gures in the right hand side margin indicate marks.

1¡ú ë™ìA¡à> šòàW¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 2  5 = 10x

 A¡) ®¡à¹ìt¡ \àt¡ãÚ "àÚ š[¹³àìš ë™ ëA¡à> 5[i¡ Î³Î¸à¹ l¡üìÀJ A¡¹¡ú

 J) áˆì¤Åã ë¤A¡à¹â« A¡ã?

 K) ‘Aõ¡[Èìt¡ ™”|ãA¡¹o’ ¤¹ìt¡ A¡ã ë¤à‹?

 Q) "šøt¡¸Û¡A¡¹ A¡ã?

 R¡) ‘NREGS’ &¤} ‘NABARD’ &¹ šåì¹à A¡=à[i¡ A¡ã?

 W¡) [Å¿[¤ì¹à‹ ¤ºìt¡ A¡ã ë¤àc¡?

 á) ‘Î¤å\[¤šÃ¤’ A¡ã?

 \) ‘"à³ƒà>ã š[¹¤t¢¡t¡à’ ¤ºìt¡ A¡ã ë¤àc¡?

2¡ú ë™ìA¡à> W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 5  4 = 20x

 A¡) ®¡à¹t¡ãÚ "=¢>ã[t¡¹ šø‹à> í¤[ÅÊ¡¸P¡[º "àìºàW¡>à A¡¹¡ú

 J) ®¡à¹ìt¡ [Å¿ ¹ç¡N¥t¡à¹ šø‹à> A¡à¹>P¡[º [¤¤õt¡ A¡¹¡ú

 K) Î}ìÛ¡ìš ®¡à¹t¡ãÚ Aõ¡[Èìt¡ Ñ¬¿ l¡ü;šàƒ>Åãºt¡à¹ A¡à¹>P¡[º ¤o¢>à A¡¹¡ú

 Q) ¹œ¡à>ã¤õ[‡ý¡¹ \>¸ ®¡à¹t¡ Î¹A¡à¹ A¡võ¢¡A¡ KõÒãt¡ ¤¸¤Ñ‚àP¡[º "àìºàW¡>à A¡¹¡ú

 R¡) ®¡à¹ìt¡ [Å¿[¤ì¹àì‹¹ A¡à¹>P¡[º "àìºàW¡>à A¡¹¡ú

3¡ú ë™ìA¡à> &A¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 10  1 = 10x

 A¡) ƒà[¹‰t¡à¹ Î}`¡à ƒà*¡ú ƒà[¹‰t¡à ƒè¹ãA¡¹ìo¹ \>¸ ®¡à¹t¡ Î¹A¡à¹ A¡võ¢¡A¡ KõÒãt¡ 
[¤[®¡Ä ¤¸¤Ñ‚àÎ³èÒ "àìºàW¡>à A¡¹¡ú

 J) ®¡à¹ìt¡ ®è¡[³Î}ÑHþàì¹¹ ®è¡[³A¡à * l¡üÄ[t¡ [¤ìÅÃÈo A¡¹¡ú [>[¤Øl¡ Aõ¡[ÈA¡à\ * "– 
[>[¤Øl¡ Aõ¡[ÈA¡àì\¹ ³ì‹¸ šà=¢A¡¸ [>o¢Ú A¡¹¡ú
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1. Answers any ve questions : 2  5 = 10x

 a) Mention any two problems of estimating national income of India.

 b) What is disguised unemployment?

 c) What do you mean by ‘Mechanisation of Agriculture’?

 d) What is indirect Tax?

 e) Give the full forms of ‘NREGS’ and ‘NABARD’.

 f) What is meant by industrial dispute?

 g) What is ‘Green Revolution’?

 h) What do you mean by ‘Import Substitution’?

2. Answers any four     = questions : 5 x 4 20

 a) Discuss the salient features of Indian Economy.

 b) State the major causes of Industrial Sickness in India.

 c) Explain in brief the causes of low productivity in Indian Agriculture.

 d) Narrate the role of public sector in Indian Economy.

 e) Discuss the steps taken by the Govt. of India for export promotion.

 f) Discuss the causes of Industrial disputes in India.

3. Answers any one     = questions : 10 x 1 10

 a) Dene poverty. Discuss the different measures taken by the 
Govt. of India for the eradication of poverty.

 b) Analyse the role and process of land reforms in India. 
Distinguish between intensive agriculture and extensive 
agriculture.



The gures in the right hand side margin indicate marks.

1¡ú >ãìW¡¹ šøÅ¥P¡[º ë=ìA¡ ë™ ëA¡à> šòàW¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 2  5 = 10x

 A¡) ¤¸¤Ñ‚àš>à A¡ã?

 J) š[¹A¡¿>à¹ Î}`¡à ƒà*¡ú

 K) í¤`¡à[>A¡ ¤¸¤Ñ‚àš>à¹ šø¤t¢¡ìA¡¹ >à³ ëºJ¡ú

 Q) ">åìšø¹>à ¤[ºìt¡ A¡ã ë¤àc¡?

 R¡) íÑ¬¹t¡à[”|A¡ ë>tõ¡â«ƒà> A¡ã?

 W¡) í¹[JA¡ Î}Kk¡ì>¹ Î}`¡à ƒà*¡ú

 á) t¡ìw¹ šø¤t¢¡ìA¡¹ >à³ ëºJ¡úx 

 \) ¤¸¤Ñ‚àš>à [>¹ãÛ¡à A¡ã?

2¡ú >ãìW¡¹ šøÅ¥P¡[º ë=ìA¡ ë™ ëA¡à> W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 5  4 = 20x

 A¡) š[¹A¡¿>à¹ P¡¹ç¡â« [¤¤õt¡ A¡¹¡ú

 J) &A¡[i¡ ƒÛ¡ [>Ú”|> ¤¸¤Ñ‚àÚ "à¤Å¸A¡ [¤ÈÚP¡ìºà [¤¤õt¡ A¡¹¡ú

 K) A¡³¢ã šø[ÅÛ¡ì>¹ Îå[¤‹àP¡[º l¡üìÀJ A¡¹¡ú

 Q) ë>tõ¡ìâ«¹ P¡¹ç¡â« "àìºàW¡>à A¡¹¡ú

 R¡) A¡tõ¡ìâ«¹ ëA¡@ƒøãA¡¹>  [¤ìA¡@ƒøãA¡¹> ¤¸àJ¸à A¡¹¡ú

 W¡) l¡üì„Å¸[®¡[v¡A¡ ¤¸¤Ñ‚àš>à¹ Îå[¤‹à * ƒå¤¢ºt¡àP¡[º Î}ìÛ¡ìš "àìºàW¡>à A¡¹¡ú

3¡ú >ãìW¡¹ šøÅ¥P¡[º¹ ë=ìA¡ ë™ ëA¡à> &A¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 10  1 = 10x

 A¡) ‘‘¤¸¤Ñ‚àš>àìA¡ [¤`¡à>, A¡ºà "=¤à ëšÅà [ÒÎàì¤ K>¸ A¡¹à ™àÚ’’ ¤¸àJ¸à A¡¹¡ú

 J) "à¤øàÒà³ ³¸àÎìºà¹ ‘šøìÚà\ì>¹ yû¡³Ñz¹ t¡w[i¡’ ¤o¢>à A¡¹¡ú
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1. Answer any ve of the following questions : 2  5 = 10x

 a) What is Management?

 b) Dene planning.

 c) Name the founder of the Scientic Management.

 d) What do you mean by Motivation.

 e) What is autocratic leadership?

 f) Dene ‘Line Organisation’.

 g) Name the proponent of Theory X.

 h) What is Management Audit?

2. Answers any four     = questions : 5 x 4 20

 a) State the importance of planning.

 b) State the basic requirements of an effective control system.

 c) Mention the benets of Training.

 d) Discuss the importance of leadership.

 e) Explain the centralisation and decentralisation of authority.

 f) Discuss briey the benets and weaknesses of Management by 
objectives.

3. Answers any one     = questions : 10 x 1 10

 a) “Management can be regarded as Science, Art or both.” Explain.

 b) Narrate Abraham Maslow's ‘Hierarchy of Needs Theory.’



The gures in the right hand side margin indicate marks.

1¡ú ë™ ëA¡à> šòàW¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 2  5 = 10x

 A¡) š[¹šè¹A¡ ®å¡º [A¡?

 J) ël¡[¤i¡ ëyû¡[l¡i¡ [>‹¢à¹ì>¹ Îå¤o¢>ã[t¡ P¡[º l¡üìÀJ A¡¹¡ú

 K) [¤š¹ãt¡ ƒà[Jºà ¤ºìt¡ A¡ã ë¤àc¡?

 Q) còå¡[A¡ ¤àÒìA¡¹ ƒåÑz¹ã A¡ã?

 R¡) ‘[ÒÎà¤ [>A¡àÅ W¡yû¡’ ¤ºìt¡ A¡ã ë¤àc¡?

 W¡) "Ñ¬à®¡à[¤A¡ Û¡[t¡ A¡ã?

 á) ‘>³å>à W¡àºà>’ ¤ºìt¡ A¡ã ë¤àc¡?

 \) Åt¢¡ÎàìšÛ¡ ƒàÚ [A¡?

2¡ú [>³¥[º[Jt¡ ë™ ëA¡à> W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 5  4 = 20x

 A¡) ‘‘[ÒÎà¤ ÒÒüº A¡à¹¤àì¹¹ ®¡àÈà’’ - ¤¸àJ¸à A¡¹¡ú

 J) ºà®¡Û¡[t¡¹ [ÒÎà¤ * "àÚ ¤¸àìÚ¹ [ÒÎàì¤¹ ³ì‹¸ šà=¢A¡¸ ëƒJà*¡ú

 K) On 1st January 2017, Kapil drew a bill of Rs. 5000 on Amarnath 

on account for three months which was accepted by Amarnath 
on the same day. Kapil discounted the bill on 4th January 2017 at 
a charge of Rs. 100. On the date of maturity, the bill was 
dishonoured due to the insolvency of Amarnath. On 15th April 
2017, a nal dividend of 70 paisa per rupee was realised by Kapil 
form the estate of Amarnath. 5

  Show the necessary Journal entries in the books of Amarnath for 
the above.

 Q) From the following particulars of Star Union Club, prepare 

Income and Expenditure Account for the year ended 
31.03.2017. Receipts and Payments Account of Star Union Club 
for the year ended 31.03.2017.

Time : 2 Hours
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Dr.    Cr.

Receipts Rs. Payments Rs.

To Balance bld 7,100 By Sports expenses 15,000

To Subscriptions 40,800 By Charity show expenses 8,500

To Donations (60% to be treated 8,000 By Salaries 3,000

as capital donation)  By Stationary expenses 6,100

To proceeds from charity show 10,500 By purchase of equipment 22,000

To sale of old newspapers 200 (purchased on 1.1.2017)

   By Rent 3,000

   By Balance C/d 9,000

  66,600  66,600

Additional information :

  31.03.2016 31.03.2017

  (Rs.) (Rs.)

 Subscription due 600 1,000

 Subscriptin received in advance 800 700

 Charnge depreciation on Equipment @ 20% p.a.

 [>³¥[º[Jt¡ t¡=¸ ë=ìA¡ Star Union Club-&¹ 31.03.2017 t¡à[¹ìJ Î³àœ¡ [ÒÎà¤ 
¤;Îì¹¹ Income and Expenditure Account šøÑñt¡ A¡¹¡ú

 R¡) ë™ï= Î³àš>ãÚ l¡üìƒ¸àK * W¡àºà>ã A¡à¹¤àì¹¹ ³ì‹¸ šà=¢A¡¸ ëƒJà*¡ú

 W¡) The following information is Collected from the books of Mr. X 

for the year ended 31st December 2016. You are required to 
ascertain the amount of credit sales : 5

 Debtors Balance as on 01.01.2016 (Dr.) - 72,000

 Cash received from debtors during the year - 4,60,000

 Return Inward - 40,000

 Bad debts written off - 5,000

 Discount Allowed to Debtors - 25,000

 Bills Receivable Received - 32,000

 Bills Receivable dishonoured - 10,000

 Debtors Balance as on 31.12.2016 (Dr.) 36,000

3¡ú ë™ ëA¡à> &A¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 10  1 = 10x

 A¡) On 1st January 2016, Mr. X of Delhi Consigned 100 cycles, 

costing Rs. 200 each to his Agent, Mr. P of kolkata. Mr. X 
incurred Rs. 1000 and Rs. 2000 for insurance and freight 
respectively for sending the goods. On the way, 10 cycles were 
damaged due to bad packing and an insurance claim of Rs. 1500 
was received as nal settlement from the insurance company. 



Consignee took delivery of the rest goods and incurred Rs. 1800 
for clearing charges and Rs. 900 for godown rent. He sold 80 
cycles at Rs. 400 each till December, 2016. He is entitled to a 
commission of 10% on gross sale proceeds realised by him.    
Mr. X  closes his books of account on 31st December every year.

  You are required to draw up the Consignment A/c, Mr. P A/c and 
Abnormal loss A/c in the books of Mr. X for the year ended 
31.12.2016.

 J) &A¡Òà¹à ƒà[Jºà š‡ý¡[t¡ ¤ºìt¡ A¡ã ë¤àc¡? ÒüÒà¹ Îå[¤‹à * "Îå[¤‹àP¡[º [¤¤õt¡ 
A¡¹¡ú



1. Answer any ve questions : 2  5 = 10x

 a) What is compensating error?

 b) State the Golden Rules for determining Debit and Credit.

 c) What is meant by contra entry?

 d) What is delcredre Commission?

 e) What do you mean by ‘Accounting cycle’?

 f) What is Abnormal loss?

 g) What is meant by ‘Proforma Invoice’?

 h) What is a contingent liability?

2. Answer any four    = of the following questions : 5 x 4 20

 a) “Accounting is the language of the business”–Explain.

 b) Distinguish between prot and loss A/c and Income & 
Expenditure A/c. 

 c) On 1st January 2017, Kapil drew a bill of Rs. 5000 on Amarnath 
on account for three months which was accepted by Amarnath 
on the same day. Kapil discounted the bill on 4th January 2017 at 
a charge of Rs. 100. On the date of maturity, the bill was 
dishonoured due to the insolvency of Amarnath. On 15th April 
2017, a nal dividend of 70 paisa per rupee was realised by Kapil 
form the estate of Amarnath. 5

  Show the necessary Journal entries in the books of Amarnath for 
the above.

 d) From the following particulars of Star Union Club, prepare 
Income and Expenditure Account for the year ended 
31.03.2017. Receipts and Payments Account of Star Union Club 
for the year ended 31.03.2017.

Dr.    Cr.

Receipts Rs. Payments Rs.

To Balance bld 7,100 By Sports expenses 15,000

To Subscriptions 40,800 By Charity show expenses 8,500

To Donations (60% to be treated 8,000 By Salaries 3,000

as capital donation)  By Stationary expenses 6,100

To proceeds from charity show 10,500 By purchase of equipment 22,000

To sale of old newspapers 200 (purchased on 1.1.2017)

   By Rent 3,000

   By Balance C/d 9,000

  66,600  66,600



Additional information.

  31.03.2016 31.03.2017

  (Rs.) (Rs.)

 Subscription due 600 1,000

 Subscriptin received in advance 800 700

 Charnge depreciation on Equipment @ 20% p.a.

 [>³¥[º[Jt¡ t¡=¸ ë=ìA¡ Star Union Club-&¹ 31.03.2017 t¡à[¹ìJ Î³àœ¡ [ÒÎà¤ 
¤;Îì¹¹ Income and Expenditure Account šøÑñt¡ A¡¹¡ú

 e) Distinguish between joint ............. and Courignment Business.

 f) The following information is Collected from the books of Mr. X 
for the year ended 31st December 2016. You are required to 
ascertain the amount of credit sales : 5

 Debtors Balance as on 01.01.2016 (Dr.) - 72,000

 Cash received from debtors during the year - 4,60,000

 Return Inward - 40,000

 Bad debts written off - 5,000

 Discount Allowed to Debtors - 25,000

 Bills Receivable Received - 32,000

 Bills Receivable dishonoured - 10,000

 Debtors Balance as on 31.12.2016 (Dr.) 36,000

3. Answer any one     = question : 10 x 1 10

 a) On 1st January 2016, Mr. X of Delhi Consigned 100 cycles, 
costing Rs. 200 each to his Agent, Mr. P of kolkata. Mr. X 
incurred Rs. 1000 and Rs. 2000 for insurance and freight 
respectively for sending the goods. On the way, 10 cycles were 
damaged due to bad packing and an insurance claim of Rs. 1500 
was received as nal settlement from the insurance company. 
Consignee took delivery of the rest goods and incurred Rs. 1800 
for clearing charges and Rs. 900 for godown rent. He sold 80 
cycles at Rs. 400 each till December, 2016. He is entitled to a 
commission of 10% on gross sale proceeds realised by him.    
Mr. X  closes his books of account on 31st December every year.

  You are required to draw up the Consignment A/c, Mr. P A/c and 
Abnormal loss A/c in the books of Mr. X for the year ended 
31.12.2016.

 b) What do you mean by Single Entry System? State its advantages 
and disadvantages.
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1¡ú >ãìW¡¹ ë™ ëA¡à> šòàW¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 2  5 = 10x

 A¡) ‘PODSCORB’ A¡ã?

 J) ¤¸¤Ñ‚àšìA¡¹ ë™ ëA¡à> ƒå[i¡ ®è¡[³A¡à¹ l¡üìÀJ A¡¹¡ú

 K) š[¹A¡¿>à A¡ã?

 Q) ¤¸¤Ñ‚àš>à¹ š[¹[‹ A¡ã?

 R¡) Kot¡à[”|A¡ ë>tõ¡â« A¡àìA¡ ¤ìº?

 W¡) ">åšøà>>à¹ Î}`¡à ƒà*¡ú

 á) [>Ú”|> A¡ã?

 \) ¤¸¤Ñ‚àš>à A¡ã?

2¡ú >ãìW¡¹ ë™ ëA¡à> W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 5  4 = 20x

 A¡) ¤¸¤Ñ‚àš>à¹ P¡¹ç¡â«šèo¢ A¡à™¢à¤[º [¤¤õt¡ A¡¹¡ú

 J) š[¹A¡¿>à¹ ³èº ‹àšP¡[º l¡üìÀJ A¡¹¡ú

 K) Î}Kk¡ì>¹ P¡¹ç¡â« "àìºàW¡>à A¡¹¡ú

 Q) ³ì>à¤º * ">åšø>>à¹ ³ì‹¸ šà=¢A¡¸ ëƒJà*¡ú

 R¡) ¤¸¤Ñ‚àš>à A¡ã A¡ºà? ¤¸àJ¸à A¡¹¡ú

 W¡) ë>tõ¡ìâ«¹ [¤[®¡Ä ‹¹> Î}ìÛ¡ìš [¤¤õt¡ A¡¹¡ú

3¡ú >ãìW¡¹ ë™ ëA¡à> &A¡[i¡ šøìÅ¥¹ l¡üv¡¹ ƒà*¡ú 10  1 = 10x

 A¡) [>Ú”|ì>¹ ³åºº ‹àšP¡[º l¡üìÀJ A¡¹¡ú [>Ú”|> š[¹A¡¿>à¹ ÎìU A¡ã®¡àì¤ 
Î´š[A¢¡t¡?

 J) ¤¸¤Ñ‚àš>à¹ Îà³à[\A¡ ƒà[Úâ« P¡[º "àìºàW¡>à A¡¹¡ú

Time : 2 Hours
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1. Answer any ve of the following questions : 2  5 = 10x

 a) What is ‘PODSCORB’

 b) Mention any two roles of Managers.

 c) What is planning?

 d) What is spam of management?

 e) What is democrative leadership?

 f) Dene motivation.

 g) What is control?

 h) What is Management?

2. Answers any four    = of the following questions : 5 x 4 20

 a) State the important functions of Management.

 b) Mention the basis steps in planning.

 c) Discuss the importance of organisation.

 d) Distinguish between Moral and Motivation.

 e) Is management an art?

 f) State in brief the different styles of leadership.

3. Answers any one     = questions : 10 x 1 10

 a) Mention the basic steps in control. How is control related to 
planning?

 b) Discuss the social responsibilities of management.
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